
20 40 60 80 100 120 140

−
4

−
3

−
2

−
1

0
1

2
3

Cluster: 0061 ptr; resid: 0.31; r/c: 46/64

x.range

upstream meme PSSM #1; e=1.5e−05
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upstream meme PSSM #2; e=1.5e+03
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12031

17344

16130

52286

171879137

34896

20318

22974

7235

3183
46728

11777

12313

12762

13244

27889

33623

38821

38946

41029

43731
44321

44484

44585

44679

44980

45195

45373

45549

45601
46653

46881
48233

48703

48946 49174

49239

49353

49634

49690

49774

49781

50342

50498

54981

string −500 −400 −300 −200 −100 −1
38946−0.15
49774−0.16
41029−0.16
46653−0.20
20318−0.23
44980−0.29
27889−0.39
12031−0.55
16130−0.69
44679−0.72

7235−0.77
48233−0.82
13244−0.86
49174−0.93
45195−0.97

3183−1.01
46881−1.07
44585−1.11
52286−1.29
49239−1.48
33623−1.57
48703−1.68
12313−1.70
38821−1.70
45601−1.92
45373−2.30
11777−2.33
49781−2.52
50498−2.54
34896−2.60
54981−2.62
45549−2.79
44321−3.09
22974−3.10
44484−3.11

9137−3.26
49634−3.50
46728−3.73
17344−3.79
12762−3.92
48946−4.13
43731−4.66
49353−5.12
50342−5.12
49690−6.08
17187−8.22

log10(P) upstream meme1 2 log10(P.clust)=−2.19; 46 seqs; 46 uniq
c(0.5, 2.5)
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